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1.5-1.7 |&=25ide] ZHYUMZH 27| S5 EEt = 1 1,381

1.5-1.7 |==5idyl FAHUMEH 27 S50 Ect =3 3 2,011

1.5-1.7 |EZ2/3 SEZM QvithE nfFdHAI £ = 4 4,899

1.7-1.15 |M=Z Al o|&§ols] ol HMalod 53 ole 1 3,950
1.20-1.25 |o&dpM ol& ol WRdlol 3 =9 2 3,200
2.10-2.14 | tiEctelzAjof 42 BFEHH 2 3 4,810
2.14-2.20 |0{stAM P ZolE 2 wFHor HEY =9 2 2,800
2.17-2.27 |QMZE s7|& HAOHY HAg ¢l& 59, 2AED|of A A, TYA 1 4,155
2.17-2.21 |8 X|LAIx|ChA| Astat A E S8 nRpe 7 1 793
2.23-3.3 |ol|lc|25/o} Zz|ojols g2tk Eof ol c| 2 o}, EtX}L o} 1 2,803
2.27-3.3 2014 A7lZ = A AYN &7} 1 1,942
3.4-3.8 |F=H|7|AEt S}EEMA] DFHH FT S=H|F|AE 2 4,978

3.6-3.14 HEoAEE F2A) 6l Ao}, 3 20tE| of, =M of, 22 =2 o 13 41,832
3.6-3.15 |o|= EXlfx &€= 3 14,252
3.10-3.13 |HA Zutef 3| od= &7} 2 1,338
3.16-3.22 |BAJHf ZH 7B =atats| FHIALE F=X 1 3,340
3.16-3.22 |ZFFRHAIEct DiAAlH £ 1 2,074
3.17-3.20 |== s 5M XjZAH HMA AMHEe 2 2 2,262
3.17-3.22 |2&=Nulo|2atdA A= 57| vlo|o] HEY RS F2 2 4,200
3.23-3.30 |MZ fo@e| I AN A 2 9,565
3.24-3.29 |2 A|o} 52|25} Bak i 1 2,565
3.24-3.27 |=2o|3 HEY HIZEM Qloloels| eteuF £7 3 2,252
3.04-3.28 |aMABTRSHols 2 BYLYE JE LMY= MA| 1 1,729
3.25-4.4 |Z&xH & Fof X[Abx| AF2st A Fod SAEgZ|ohLA= 1 1,406
3.25-4.4 |Z2StR Aok x| AIx| HFAS A Eho] AEZ|oLAZ 1 2,200
3.30-4.5 |02 20| Y fEM oHHRH T SHAL) HEST oS 1 3,092
3.30-4.6 |2014 SolFHAEEt nf7AAlY FX g2 2IC| Al BN = W E 1 3,077
4.2-411 |0o|= AMolZro{E TA|QHM A A o= 1 2,017
4.7-4.19 |o|= =X|ojtfstm EHM™A FHAL 7} 1 2,516
4.7-4.9 (2014 EEZM nFAlY AFR 9 = (EBLY 2 1,349

4.7-411 |53 M6l HA MG Tz Y ML=E S(Ms8, M 3 4,197
4.7-4.11 |201424=H 0| AU AE S5 3 WM SR =X S(Aksf M 1 1,600
4.9-411 |53 &F 2 AYRX FF EF ES(&F 1 976
4.14-4.18 |&5 SAE SIAMNENAHe ALY =2 ESF(AH, 25t 2 2,082
4.15-4.18 |2014224=HUI0|QAAAUAT B U YW S| 2 3 4,500
4.16-4.18 |ofOlLIA[® 2014 =A| HE FH AFH U= (ofOfLIA| B) 2 1,706
4.18-4.22 |2l Ao} HAF QIHZIO{HAIE AI7FAIY F3 1 1,529
4.21-4.24 |2014 2|4t 6H2|9_4¢ =3 S (Asl e, 3 3,265
4.22-4.30 |ENQEZ 2 HlO| Ao MAIEE M wZ TYA AQA 1 4,260
4.23-4.25 |LE EXP|E 2AF LE FZ = 1 1,769
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6.8-6.12 |MAHIX|ZHEEAS(UCLG) of. EfX|F 5|2 &It o= 2 3,001
6.8-6.14 |olQkof Ef kAU 2l =AM (ODA) 2 ME27} oA o Qkat 1 -
6.9-6.19 |SH0o| FHAFE Lz AlY =X &g, ozlato|, ZFH|of 1 5,836
6.22-6.28 |&5F SAIE S0IAZMNEH DHAY F2 o|=, 74 -iet 1 3,510
6.22-6.28 |‘BIO USA 2014’ &7} EEEA 29 X 7| FA ol= 4 -
6.23-7.5 SYX P AZNHTE L iyl Fojulats] EoIAIY 2 £E, 35 1 2,987
6.26-7.1 CAIPT 2014 ZH&et=dis =2 YE 3= 1 -
6.29-7.2 |M 253 stHdul A FH US| S5 EE &It == 3 2,951
6.30-7.4 |2 AEIMAEC otAAY F2 o= 1 1,727
7.3-7.5 |o{EieM oL g WREOHHY =2o((&) e 4 4,600

7.4-8.1 A= SH sledsH7l& HLUME(KOPIA) 2tE o5 AHLF 1 5,928

7.7-7.13 |2lE{ &2 S0| ef LFHH A FHIt o= 1 3,639
7.8-7.12 |2014 M&H | IH uF &7t S 1 1,482
7.9-7.10 |2 A FARx 5 ) 2 1,261
713-7.18 'Jc:,lj}%, L2 OIAIOF MOREDIY SXSXIE|  A7LZ atao|Alof 3 7,800
7.14-7.18 |$EA HEXNEHS ST 4. 52 oYM HS| 3 (MY, 54) 4 7,313
7.14-8.11 |A=Z 2 sllelsg7l& 7HLHE (KOPIA) 2t o A&7t 1 4,784
7.16-7.19 |85 S534 X9AH Hlo|2Fof FaaH ZJ R} == 3 4,253
7.18-7.20 |(5=7|Y MM FEX| F FEAFR &S Fe 2 2,305
7.20-7.23 |B= E8ZM ofgdg 2E £ 1 1,243
7.28-8.2 |ZESZ U REA IHAHLBA Y 2y U Y4 =(5 2 -
8.3-11.1 |s¢7|l& n7E I8 Ul E844 1 705
8.3-8.12 |cot4mia, 54, 5%,3584d M|l Jluiches SHE AU olg o[=, FHLich 1 4,214
8.5-8.9 2014 AL s H =) 1 -

8.8-8.13 20143 = HAMESF dAd W7 Q& s 1 1,817
8.8-8.16 (2014 o|z-sfLict Al EHa|sts] ZEstas| 2M4 & stadsy o|= 1 -
8.13-8.18 [HIO|HZA|7IH BE 23| ZEETIKIGEZ == 1 1,589
8.18-8.23 [ZH 2ldgts &ts Uy W AFHE o a5 2 -
8.19-8.22 (2014 SE5F&4AE 22 TH A ALY FX ) 1 1,220
8.21-8.23 ([£HEE Hlo|2 R7Is4Y slAnig SR MHAN Y AR = (A 3 1,567
8.22-8.26 |ZE=ZEAM o =Y sfiAMYS| 7 == 2 2,685
8.24-8.30 |(MEH€Z=2aH 3 Ho{(o|SE)ME eI EAS Elz| 1 -
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8.28-9.2 |E5SAME &F EEEHEN T sF 2 1,501
8.28-8.30 |SHSE Hol2 RI|54Y HAnIY SR MYl 3 (4ksH) 12(0) 10,902 | et
8.28-9.1 |SITA AR AT sy 3| JHA = 2 2,648
8.29-10.3 |2014\A= 0| ZEMS A& Zeoleis n| = 1 4,093
8.31-9.5 |HI243| M A Zol4 S5t SEWE Y HTHE 47 ZgA 1 -
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9.1-9.3 |EU7IU-THT IR 8A| WELH HATXFAES cj gt 1 1,181
9.2-9.6  |[MIAHIX|2EEABHUCLG) o EfX| & 3|2 E7} o et 3 5,402
9.4-9.6 |201452 IHM=EF T3] EIIAAFA = 1 1,208
9.11-9.19 [&Tofel &SX[AN T SFTHF =g olE2|of 1 2,130
9.12-9.19 (8h.& FaHd WR 2% &7} Eil 1 260
9.13-9.19 [RESIIEA, REAMLH =AY A £ LI 2te oo 2 5,971
9.14-9.21 |S¥el 6XLY SIS RI|SSSE BEE |grja| 222alohHA| 1 3,400
9.14-9.20 [FH SHOIFHAIHE fziAl] =& H E=, HelE 1 1,763
9.15-9.25 [MZAIX|LAMIA T Hix|otH o| =, 7] et 1 2,693
9.15-9.22 (SYUMZI= AF7[8t HESF A MR ofY =4 4 Eet= 1 -
9.15-9.22 |al 2/ E5tHE B0t (/S STEH AT ) o= 5 7,500
9.15-9.19 (SAXSAEE HAIE &It = 3 11,155
9.15-9.19 |&I113| xfo|L{-ofM|otHA T Rt7} 532 3 4,068
9.20-10.1 (AH117| SAHLF LY A o[ =, 7 Ltct 6 61,476
9.20-10.2 |®117] SZZIF MDY ool _ OlErloh =91 2
9.21-10.2 |Al117] S AN Y Zolols . Eiﬂoj-tﬂ”j—? 5
9.21-9.28 (2014 {AHALFC R 7|2t 3| 2 A& =, F=, L olAlot 1 1,748
9.21-9.23 %I%'%E A5l0| AR A MR E 2|8 FaEAL == 3 3,201
9.22-10.1 ;@53} 2 FTANHS 2B 2IX(o HolHTPHE W REAY 7 A ol 2 -
9.22-9.27 |SutstiysilS S T4-HAB S selseis | La|o[Alof H7tEE 1 1,795
9.22-9.26 |E= ZEUN oleivl&s R 32 3 3,000
0.23-0.30 [119 PEAtE M| MEAE Felds Amol, S, ZEyA 1 3,857
9.23-10.1 [2014 M= =AM T Nl 2oels =9 33,222 of 1 3,269
0.24-10.1 (2014 MutBa| B2 selads e 1 4,282
9.25-9.29 |®I193| KBS119 $AXt Z{2f (% B = 1 -
9.28-10.4 [z=9dsiE ol & & A MZ7|& HE+FH = 1 -
9.29-10.5 |[FFFHAIECH otHAALY] F& AZolE|o}, &7}zl ot 1 3,987
10.1-10.3 %J*IF-?E ASto|ALRAolTi A ek mMZ L el == 3 3,121
10.1-10.8 (XD H U™ APLLR} oo @2Ez2|o = 2 6,684
10.4-10.10 |2014 sMzZ|H =3 2538 Z2(dy 3,418 1 1,073
10.6-10.10 [108 BHAIAHE EXFAESHE 23 47tx= 2 4,600
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10.12-10.18 |MAR7|=sth 3| &7t B 7| 2 5,768
10.13-10.17 |2014 H EE —Ell= SHAIEC ofAALd FX HES El= 1 1,722
10.13-10.21 |R& MZIs= Arsted Al Hix ol TYA S AA 1 -
10.14-10.17 |Bio Japan 2014 @i Y& SXARAEE g4 8 3,653
10.15-10.18 |@F=H3 & *..'_'Ff‘ ZH =M 7HE 2 28t CH ot 3 3,829
10.18-10.24 %:%I%ii?é\aﬁg-"i' # &3 mivke #ot =3, 82 1 2,292
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10.20-10.24 |52 ATAE AT BR2IHE 29/ otel TUAlOHE R oI 14 Ao} 2 -
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10.21-10.29 (2014 SEX|T7|& AFXIH A o|= 1 3,535
10.21-10.27 |sEAIY 2o sl sl o1& cHok Ea|m 1 1,800
10.21-10.24 %IE ES5MTe| X ZAXMEFN AHHAEH == 3 4,184
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10.23-10.30 |&35tg S| S EHZME & 2|Hojeds E 7| 6 9,000
10.23-10.31 (2014 S{o{ &M LAY 2 sl 2lod doldUME 1 5,025
10.24-10.31 |S#ASHEOL TR H HpM 752 3t Z97[aHdS 5F 1 2,734
10.25-11.1 |h=B 4ol 2% SUYALE B THE HAZ |92 czuvogescazao 6 9,000
10.26-10.29 |Global Trade Developement Week 2014 Z7} | olgodlo|z| E(FHfO]) 3 8,257
10.27-11.1 |t SHHIAIY Hols| Y &AL I & = 1 -
10.27-10.31 |58 =54/& SHOMZ Mt oA 2ao|Alof, HI ER 1 1,497
10.28-10.30 |&= st YL HS =X = 3 3,855
10.28-11.5 |78 HZ=el &I oHHm S ey Hgets S 0lg2lot| 4 17,190
10.28-11.5 é%%%}%ﬂ% &g 2 Eel0h, 2ol of @2 Lioh A% 2 2 9,908
10.29-11.7 |ZA[oHH &H E!J,IH_.:;H'-P -?I?IF&;OJ%‘— s RN E = 1 I = 1 2,153
10.30-11.7 |SEMZME U AMATFH A EZA 7|, AH el 1 2,590
10.30-11.5 |53 FATSL AT (37]) EIIAY =4 = 1 1,545
10.30-11.8 2014 SEX|T H2| Xk Fo|Hd A9|A HHEE 0| F2lo} 1 3,000
10.31-11.4 |58 sA|E 0|5 EEEHEN FMAE ol= 2 5,186
11.2-11.8 (144 X Ho|HX[HAAIY HLZFY =i | S, 2AE2 ol AA 1 3,500
11.3-11.12 |2014 stED| HES Fe[Hds DEA I UERE 1 -
11.3-11.8 (20144 &5 CIS Y A{HEt otz 2{ Al ot 1 2,470
11.3-11.10 |2014 Ea|H ASutats| &GS g 1 1,677
11.3-11.7 |53 BMEERRT elalt) Eoy =2t =3 5 8,143
11.4-11.8 oﬁgé%ajﬁ}mng Zo|z=d g #let el 32, ZaolAlo} 3 8,333
11.5-11.8 2Fo14:j %%oraialnl_ﬂ%?;%l%wg ToHENF CH 2t 1 -
11.5-11.11 |9l = BIOFACH &7} olE 3 8,200
11.6-11.14 |2014d Ml 2 &H20F T2l HEete dolo, 5 1 3,000
11.6-11.11 |2014 Efo[H0| =M AZYH BYESEY 29 chet 1 1,641
11.6-11.14 |2014d 32| HSH MY ol =, 74 -iet 1 4,200
11.6-11.9 |[SHEC HEH Z2 584 U2 =2 12(0) 18,173 | GHIZ

11.8-11.15 | SHELSX| ALY =2l s, zFA 1 3,303
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11.8-11.15 f’éé@%‘ a2 J|s o 2 R2EAR = (smmcs 1 4,094
11.10-11.15 [FTAZ| 2AIY ZA X} 3| 2] Ml =AHALRE, o) e 1 1,814
11.11-11.15 | &= d5t0| A ZFHEs SSHIMY FT = 1 877
11.11-11.15 %%MBQA}ET?E.:%%% Airshow China 4| == e 3 7,396
11.11-11.19 2o1h2;|i°_=la TAY R Feld &t AERZ|ol, =5 1 -
11.12-11.20 [MZ ZAAM A 2ol =28zt 1 4,126
11.13-11.17 (2014 &3 SHAEN SSEL2 2Y = 1 1,216
11.13-11.22 (AT SEEAE 2l ol =, 74 -iet 1 -
11.13-11.15 [HjO| AT |} SIZE HY &E X = 3 2,682
11.13-11.15 |Hl68| sH=Cl&HEZks| o &7} = 2 2,101
11.14-11.22 (20144 SO EI[ LAY sl 2l A=, glel, 228 of, 5 1 4,543
11.17-11.22 | SEH M X EA}L Sl afleldpels A7HE, Lalo[Alo} 1 1,800
11.17-11.21 |0|FFXA7R 5 ol= 1 11,175
11.17-11.21 |0|ZFARX] €5 o= 3 9,161
11.17-11.21 (X ebd o gM31E 28t P i 1 1,750
11.18-11.20 (5= &510| FH[ITAIR L MX| F2 e 2 1,914
11.21-11.24 | =H[7|AEH E}GFH E o|2 22 M| &7t =] 7| AE 1 1,780
11.23-11.29 [SHMEZE7|7X2|HE 2ut 23 535 &N = 1 1,436
11.24-11.29 [FTAZ| S ALY ZHAX} s 2| Al = AL(EH) = 1 2,466
11.24-11.28 |MEA S 2| MAX| 22 o1 QhE=, 1 1,627
11.25-11.28 |8t X| WAL w73l &7 23 MMM w2 = 3 6,161
11.27-11.30 |33 IH A A3 & LA Haois| &7t = 2 1,626
11.27-11.30 (S Sz ojEct Za|P HAF Y2 de|H 3 3,033
11.27-11.29 |H}O| 27| RALFA| 7|dt=M S 28t =& == 1 1,051
11.28-12.1 |55 ZHAF oigt 85 BHEH &7t oot 1 1,193
11.29-12.6 |HYF PHAIE oA 2 SF, REWE 1 3,741
12.1-12.6 |sEXTA SHSTHE3| A slelds s P =Hf| 7| AE 1 1,919
12.1-12.7 [2014 Q[ Alo} ArAT|AH MA|3| &7} ol =1 Alot 1 2,033
12.2-12.6 (2|2 HZZ sl MY3| 7H2| = 2 2,575
12.2-12.4 (sl BZmREfMZXY 27} o= 1 642
12.3-12.10 [F7IX|HEHS oHHE Hats 28t 9 Mo A AT 1 3,971
12.4-12.12 |[HEX 2| ST ZotE /8 MaLY Z|HH =4} o|= 3 13,374
12.4-12.12 |X|gid el M S MAZT A, HERE 52 A9 1 4,800
12.4-12.6 |E244510| AFRA M| £ e 2 1,324
12.8-12.17 |21M7| SofAlo} A MFALYE EVIXL Q& U= 2 589
12.9-12.15 |20142el|o|A|of | RHAE BiEts| &It Zaf o|Alof 1 1,914
12.9-12.14 |5 SBZYojo) Ax =N FEHE A H == 1 691
12.11-12.18 |20142| 250 37|12 R sl Hs ZZA 0| E2]of 1 1,625
12.11-12.19 |[5.5E& 6AHMY &43IE 28t o d 2H ol 57| 1 4,508
12.11-12.17 |(2|=2l FXgx|(SY) AF&EZ =g 2 6,812
12.12-12.16 |33 Mot 2|2 2 My 3| = 2 2,575
12.14-12.16 |HFIH3E L S5 EMs =2 £3.5= 2 2,120
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